normalized X?

107}

1072 l

107

< x2/ndf >

Ratio
-

< x2/ ndf >

Ratio

chiz
Entries 21551
- Mean 1.054
H Std Dev 0.607
- 1
chiz
...... Entries 76422
Mean 1.049
Std Dev 0.5848
[ chi2
E Entries 26422
E Mean 1.049
F Std Dev 0.5848 |

XZ

1.8

1.6}

1.4

1.2

iy

[ normalized x? probability |

chiz_prob
Entries 21551
Mean 0.499
Std Dev 0.2958
Shiz_pro
Entries 76422
Mean 0.4993
+ - [std Dev 0.2952
: chiz_prob
- [Entries 76422
Mean 0.4993

Std Dev 0.2952 |

== DQM_V0001_R000000001__Global__cmssw1000time__RECO
s DQM_V0001_R0O00000001__Global__mkFitNewOLD1000time__RECO
m—— DQM_V0001_R000000001__Global__mkFitNewALL1000time__RECO

T, W A
i e s B

10? pw3

< X2/ ndf >

Ratio

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, ]et?



	Contents
	Page 1


